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Because of promiscuity — RMIXSID QWR

OVERVIEW

Y7771 maintain that 27 would be 7312 only for one who was X223 wpn
(either without a T17°¥ or according to others even with a T7°w) because of
XNM1¥19. Our M0N0 discusses what the XNx™M1 is.

— 1 In5 579 IN AN ST IN 198V 29D RN 139917 DN 1929 VY9N
n"19 explains that the mx» 2 is, that either nN°2 >T» or 7y 7Y are

required to sanction these UTp -
— %45 9¥ ©1Y PHRYIY 19N 131

And it is a disgusting act to set aside witnesses for this purpose.

mooIn disagrees:
—Do¥a 91 V1PN 11995 ;YD 1Y SNN (43 41 INIIN) 129 PH9 MN’AT DY

And there is a difficulty with this explanation, for in n%2° ndo» in A" P99
the X773 cites a statement of X117 27 that the mx» of 212° is that he is wpn

first and afterwards he is ®¥12; the x5 there concludes, that if -
— %299 133971 M7 N9 NP WITP XY

He was not w7pn (and was %312); he receives 3329772 n179%2 no» as 29 ruled -
— SANY23 NIN 119993 NN RIPININTA N9 NNT NRYY NYN D1y DIVN INY OND)

And there the reason cannot be because of setting aside 2°7¥ (for 7X°2 or
77°) since a 2% cannot be acquired Xn»9I87» only with 178%2!

mooIn offers an alternate explanation:
— N33 13923 NYNN PYIYY MY 139917 PNYY 139399 NINII NON

! ;%02 *7v testify that they were interacting in a manner appropriate for X2 (but not that they actually saw
the act of 7X°2 [which is forbidden]), while 77> >7v merely testify that they were secluded together for a
sufficient amount of time for 71%*2 to have taken place.

2 pwrTp are not valid unless there are 2°7v who can testify that the TwTp took place. In the event that the
w17 were performed with 703 or 70w, there are witnesses for the w17°P (and no additional witnesses are
necessary [see however ‘Thinking it over’ # 1]). However if the Pw17°p were done 1X"12 then 27y are
required to testify concerning the 1"w17°p (either AR°2 *7¥ or T *7¥), and this is a XMX™M1.

® The X0 there is "1 MXN.

* This is referring to our ruling that 27 was 7°\n for one who was X°22 WTpn.

> Concerning a 7Y it is necessary to have (1) 7X»2 *7v (regardless if it is preceded by 1w Tp) for
otherwise there is no (Xn™7X7M) 1°1p; the PWITR prior to the 7X'2 achieves only a 11277 11p. Therefore we
cannot say that the Xmx"75 there consists of appointing 121 7%°2 >7, for 7X°2 >7¥ have to be appointed in any
event, since it is only the 71X°2 that effects the Xn»x71 1Ip.
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Rather, it seems to the °'"'9 that the mx°95 is that they make the initial
acquisition with 7x%2 -

ooy NY92 WIPNIT NODYT
Similar to one who is wp» without 217°w.

SUMMARY
n"7 maintains that the mx"5 of AX*2 W17 is that we are setting aside 7¥
1X°2; while the °"'1 maintains that the NnX°79 is that the initial 11 is 7X°22.

THINKING IT OVER
1. Does 7911 require 0°7¥ to validate the 1x1"1?° [Does o12° require 07792°]

2. The °"1 maintains that 7X°22 w7pn is a XMIX*ID (since WIP NP°NN is 7X°22)
and it is similar to a *217°w X223 w7pn. However according to *¥7771 (whom we
are presently discussing [as indicated by the 7"7 {and the position} of
mooin]) there is no mpYn for "1 X932 wipn; why should there be mpon
for a nxv22 wipn?!M!

® The o*an desired that the relationship between a new couple should progress gradually; first a 777w, then
PYITP (without 1%"2) then ultimately %2, Similarly by 72, there is first the 7p7 (similar to a T17°w), then
w17 and finally nX*2. Proceeding immediately to X2 is considered a Xn1x¥>9 (for it appears Mt 777).

7 See “Thinking it over’ # 2.

® See 1"nx # 269-270.

? See 1"nX # 273.

' Indeed in the w"X771 MooIN the 77 of this MO is X*22 WTPnT 791 and it is placed between all the other
cases where 27 was 7211 (not according to *¥7771).

"' See 1"nx # 282.
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